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Paper / Subject Code: 80910 / Mathematical & Statistical Techni

Time: 3 Hrs.

N.B. (1) All questions are compulsory
(2) Figures to the right indicate full marks
(3) Graph papers will be provided on request
(4) Use of simple non-programmable calculator is all

Q1. Attempt any four of the following.

a) Sachin bought 120 shares at market v:
Calculate the sum he paid for the transgf

b) If the market value of a share is Rs. 1
Rs. 60180 with brokerage 0.3%? -

c¢) Priya invested Rs. 20,000 in a mutual fund
units acquired by her if,

i) there is no entry load ] o )

d) An investor sold 500 units . ‘Find. the-sale value.
, 5)

e) A person invested Rs\ 88 ] the entry load
is 2.5%, find the NAV at- of purc] Q)

Q2.

MPUTER?” can be arranged so as to
6]

©)
©)

Page 1 of 4

7535ECC6E2E824F66A6606BFB6A3FAAF




machine A & 10 hours in machine B. If profits are k
plane, determine the number of cars and the n
manufactured in order to maximize the profit. <
Formulate the above problem mathematically as

Q3. Attempt any FOUR of the following:
a) State the merits and demerits of médi

Age (years)

No. of Persons

ulate the quartile

®)

70-80

21

(5)
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Q.4 Attempt any FOUR of the following.

a) Explain the concept of Mutually Exclusive and Independen ‘event i
b) P(AS)=2/3, P(AUB)=5/12, P(B)= 1/4, find P(A) and:
(where A€is compliment of A)

¢) Two cards are drawn from a well-shuffled pa@k fca
(i) both are black cards (ii) one is a king cas

d) The following is the probability distributi
day.

Number 0 '
' Probability

Find the average number; of

e) If two fair dice are rqu\l‘éﬁ, find the proba

a) Explain the.f

i) C 5€

®)

ii) Laplace Criterion (5)

®)

. Alternative Probability
B C
22 15 0.5
30 20 0.2
25 10 0.3
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d) Given the pay-off matrix, choose the decision problem using E

)"‘ £
MV
O e Y

States of nature —

Action |

Ay

A

A3

Probability(E)

,t‘

that should be launched using EMV ¢

ri
&

w4

0

3

ales (in
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e

|
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A

Q:\

Type of Product
Creamy biscuit

t

Salty biscui
Probability(demand)
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